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ring Sname, int quan): A non-default constructor, to initialize all service
all services are not paid.

 the info of the service in one line in the following format:

mn width, left justified>nmame<in 10 column width, left
price <with two decimal points>SR

= 240.00 SR

slication class Salon that contains the following:
A method printlnvoice (String custID,Service[] S):void
This method prints the invoice for a certain customer, having the received cusomerID as
follows:
1. Print the info of each service the customer requested.
2. Print the total price for all the customer’s services.
3. If the customer is a VIP customer, a 15% discount should be made on the total
amount, and the new total (after reduction) should be printed.
Note:A VIP customer is the customer having an ID that starts with ‘}”.
4. Marks all services as paid for the customer.

b. A method RemainingDepts( Service[] ser): Service[]
This method receives an array of services and returns another array of services that
contain only the non-paid services.

¢. In the main:
1. Create an array of services that can hold up to 50 services.
2. Read the information of 2 services from the user and add them to the array.
i. Read the name and quantity of the service from the user.
ii.  The customerlD is a randomly generated number ranging from 0-10000
3. Add to the array 3 services having the following information (not read from the

[ ™ |

the array)

'« Use the same variable names given in the UML and questi
you code contains different names.
 Reuse code whenever possible.

user):
CustomerlD Service name Quantity
12644 Manicure 1
V11355 Massage 2

12644 Facial 1
4. Read a customer ID from the user and print his invoice.
5 Find all the unpaid services and print them. : .
6. Print the number of services requested from the salon (without looping through

on description. You will lose marks if
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W _jGRASP eXxec: java Salon

enter th i
please € name and quantity of the service you want
Faclal

-

£

please enter the name and quantity of the service you want
Manicure

1

Please enter the customerID you want the invoice for

12644
12644 Manicure x1 = B80.00SR
12644 Facial x1 = 120.00SR

total = 200.0
The unpaid services are:

38649 Facial x2 = 240.00SR
7334 Manicure x1 = 80.00SR
V11355 Massage x2 = 500.00SR

The number of services requested from the salon is 5

—~=-~-jGRASP: operation complete.




e e A R

ne firstname_lastname
your full name, your ID and your lab section or

escription, and meaningful names for other
r folder then upload it to LMS.

any electronic device or any material belonging to the course.
hours.

hat helps a salon’s reception handle and serve the customers. Follow the instructions
the task.

s Service according to the following UML and description:
Service

-customerID: String
-name: String
-quantity: int
-price: double
-paid: boolean
+numServices: int

+Service (String custID, String Sname, int quan)
+displayService():void
+getters/setters as necessary

¢ customerlD: A String representing the ID of the customer.

* name: The name of the service.

* quantity: The number of times this service needs to be repeated. (Example: if the customer requested
two massages the value of the attribute will be 2).

* price: The total price of the service. Which is equal to ( quantity x base price of the service). The base
price of the services are as follows:

Service Base price
HairCut 100
Manicure 80
Facial 120
Massage 250

o paid: a Boolean variable indicating if the service have been paid or not.
« numServices: a static variable, counting the number of services created.
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Q1: State if the following statements are True or

Statement

We can specify array size by either declaring it-
during program execution.

The continue statement skips the remaining
with the next iteration, if any. .

In void method, we can use




i

™~a11. int minimu

14.

(157 if {searc@.equals(array[index])]
16. flag=true; =
17. index++;

18. (N
(19.]  while (num<5){

20. arrayz[num]=input.next1nt[1;
£1. = ﬁing_negative{arrayE[num]);
pa num++; - E—t
23 }

24. )

re are 4 errors): |4 pts.| (0.5 find error, 0.5

rrect errors in the following code (the

Q2: Find and co
the

correct the error}
um;nonot remove any
1. import static java
2. import java.util.‘;

3. public ~lass errors { ot
4. static Scanner jinput = newv Scanner {System.ln],

5. E-_l_ii;'jl ic 1_'.,11.\_1 maiﬁ {‘Stringﬁl‘[‘] Iar S} f{' "I:-|Tl Ny
stringl] array = ["thll",'HP;1',"n11 34y T
int array2(]= nev it (5]

flag= false™~=

 num, | sum =07

statement.
L}ang.Math.*;

statlic

boolean
g, int index =0,
10. ~Aatig = input.nextEPt()f‘¢

m = min(jrarraylll)i

@ =) O

12. System.out.println("Enrer:“);
h ='input.nexpj);ihkx¢'?

13. String searc _ _
while (4flag, && iggggﬁﬁar;a_.lengtth)

25. public static _boolean find negative
26. if (x<0) s - '
21. System.out.println(“Rrror!,
28. else

29. System.out.println("Positii
o : 4
3% )

Li
e Error
No

1-1 i\-\':'.' A Lt

et (§ arsy Q)
T\ L nvme B ) wom{O275) /
q) ks 2 [Ey







Q3: What is the output for the following code segments: 4 pis| 2e)
Notes:

*  Please use ~ to represent space.
_*  Any extra is -0.25

sh 4 & a 1-
O ||.'\ 1¢ statie \'Qld main {Stl‘ing am[]ié l oy

suble X = -3‘5, ."‘21'0 .( /1’
int [] a = new int[10): q? llhaw_,
int [] b = new int[10); ﬂmﬂﬂw )
h = a; ) g
b(5]= & e 4
a(s] = 10;
System.out.

| 1\ Y

| import static java.lang.Math.*; 3 ;‘:

| B ] i aAss Prqqtllll /:.
-

2.
public
[Jpubl




Section Number: ngif{‘%

e

uestion#1: For each statement there is a list of options. Choose the option (only one) that would be the

alid one.
/
1. What is the output of the following code

fragment?
public class Testl {

2. What is the output of the following code fragment?

public class Test2 ({
public static void main (String[] args)

public static void main(String args(]) { |, . arrif]l = {1 2 sl
nt arrll = {10, 2i: 30, 40, 50}, j=1Q€)u/?nt arr2[] = [l, 2, 3}; e
r (inti=0;)i<arr.length;)i++) ) égségé?éu;?piigﬁin{ "Same") ;
tem.out.print(" " + arr @ N \ else j
} L oo ) g System.out.println("Not same") ;
} 4 .. ; f
' }
Ma) 1020 30 40 50 : 6@\’< 3
= A r
[ 5) Compiler E . ot Same’ | '
. piler Error % /) Not Bame. |
_ L 7 . . '&HE’;;L—VX_“E
il 10 20 30 40 ¥ / : > ?f:’/t - ¢) Compilation Error, .~
Vd)/Run Time Error. 5585 7. d) Run Time Error. .
. SN
Wy
‘-'_J_.J .

3. Wh.nt is the output of the following code fragment?
PUblic class Test3 {

[{)ublic static void main (String[] args)

Pt arclf)afiaio’ gy
;:t arr2(] = {1, 2, 3)yarr3;
f [arrl::arrB}

|
System.out , pPrintln ("
else

Same") ;

Syatem.out.println{"Not same") ;

) L e A

a) Same, 1~
b) Not Same, .

4.What is the output of the followin
. code fra it
public class Test4 { i yr

public static void main (String[] args)

{

for (inti=0: i<2;_i++] \=% 1=\
for (int j:iil; FE1+2: 544) §-al 4
for (int k=0; k<j:rk++) v.» ) ¥~
System.out.print (i 4+ 43 4 ® "+(++ki}-
} o Nt VA T o~ | ¢
}
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Q2: Find and correct errors in the following code segments

0.5 correct the error)

final int DAYS_OF_MONTH= 31;-,

Scannar input = new s::mnnr{s:stgg-.-i_f" .:‘:

String nameOfMonth;™\

nameOfMonth=input. next( )i
if (nameOfMonth.equals ("Feb,

DAYS_OF MONTH= 28;




=

. What is the output for the following code segments: [4 pts.] (1+1.5+1.5)

es:
* Please use ~ to represent space.
* Any extra output is -0.25

: Output
boolean x=false; i—-\_ﬁ'UE“TF we
int t=0, j=1, k=2; Yy st ey
chz +Tt==j ll k%z:‘{}; -:" .
System.out.print(t+" "+x+' it of 190

(

b-

/Unicode 'A'Z6Y, 'B'=66, 'C'=67
char inputChar = |'Aj;
switch (inputChar) {

case A'“J

case 'a'y

System.out. prlntln{in

inputChar=(inputC

case 'Z':
case 'z': .
\__ System.out. .print

break;

default:

found");
break;

}

c-

int x=1, y=3, 2z=3;
if ((—= == 11N
System.out.pr
} [
‘else if ((x == BJ
5ystqp out-nq
} -

else { "
System . OIJ. .




Q4: Write one or more Java statements: [ pts.] (1 +2+2)
»* S
Write one statement that will multiply the value of double variablefm;b}r _f.i then assign 1t to 1

variable inum.
Note: Assume that all variables are already declared.

R ‘-m‘f“ﬂ?((**i')@nuﬁ)*f)j/

b- Write d switch iotmmzvaluenfm mnhl-lfltul 2 3 4, “Weekda
7 print “Weekend”, otherwise pnnt“tlelvgua!ﬂ“ ik ﬂl'slmﬂt .V”Ifﬂ

Suibela. (A%j {

.::b.s:,i.;
Lasel. ..
';':!'Sf%* O i A 0 M N A A R
Case.M % ﬁf ........................
Coast..5.2 :.m.mrh m:‘-.
e ’j/ e
r:.msg 8.5,
case Fs. %&'hm. m.i..ﬁ.'na'!-'h»..
rak.y Bl s e

E%M' 2
.S oo ﬂw}: n..l‘l s Ih Tr
B.rfqdr,:. _,. 534#- .!;t r\ thd 7

=
J e -.-;‘4*.+pc------.1---------r-|+r|--------++++|.---------ti--lun--q:;p'--
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r —

e

c- Write an/iffelse Statement that adds 1 to the variable minors if the variable age is less than I8

the variable adults if age is between 18 and 64 fand adds 1 to the variable seniors and prints

if age is 65 or older.
Note: All variables are of type int, declared and initialized.

é#‘f‘?h‘ l.".'.'."u A‘I."'w*l!h( i e, tey.. I;N‘jt } o iiassessewensaasrmsedusnesiaesdsakn
’ ‘;}e- e R R O R e PR T R
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------------------------------------------------------

------------------------
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else
W1

L ~
Syshersou b (151 ");



)S: Write a complete program: [4 pts.] (1:
e S

Readhﬁ;r;f]_dqmpﬂﬁny_es mamr than 60 degrecs print the message: "FIRE!! Tempe

reache egrees”. If one e of the entered temperature value is negativ "

was entered". pe egative, print the message: "Negative

lMPnk'} dwq.uh L .................................. RsR e s R SR o

public cluss. J:thaptrqi.ﬂ,cs. f,_ B T

----------------
--------------------
-------- R
R R Y
LR R R
EEstssassan.
..

bl stadic ;
cannerFrs ;:‘ﬁ,_? - { Sty

Dﬂ"""“?‘ ~Privca. ("Evd!.h

--------------

----------------
----------------------

.........
--------------------- TS

{. Sume. 2. 40.) iL,

----------------------------
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----------------------------------
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